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OLC SUPPLEMENT – CHAPTER 5
COMPARISON OF THE DIRECT AND INDIRECT METHODS OF PREPARING THE CASH FLOW FROM OPERATING ACTIVITIES SECTION OF THE CASH FLOW STATEMENT

The simplified example below illustrates the difference between the computation of cash flow from operating activities using two methods: the direct method and the indirect method. We first show the effect of a series of summary transactions on the balance sheet equation as well as the effects of these transactions on cash flows. We then show how the transaction effects on operating activities can be grouped to prepare the cash flow from operating activities section of the cash flow statement.

The balance sheet of Sample Corporation showed the following account balances at December 31, 2006:

Sample Corporation

Balance Sheet

At December 31, 2006

Assets


Cash
$  19,200


Accounts receivable
22,000


Merchandise inventory
75,000


Prepaid expenses
15,000


Property, plant and equipment
$113,500


Less: Accumulated amortization
  20,000
  93,500



    Total assets

$224,700
Liabilities and Shareholders’ Equity


Liabilities

Accounts payable

$  14,000


Salaries payable

1,500


Income tax payable

4,500


Long-term debt

  54,000


    Total liabilities

  74,000

Shareholders’ equity


Common shares
$126,000


Retained earnings
  24,700
150,700


    Total liabilities and shareholders’ equity

$224,700

The following summary transactions occurred during 2007:

1. Purchased merchandise for $62,000 on account, and paid $59,000 to various suppliers. The Company uses a perpetual inventory system.

2. Sold merchandise on account for $140,000, and collected $145,000 in cash from customers. The cost of merchandise sold was determined as $69,000.

3. Salaries expense totalled $28,000, but only $27,000 was paid to employees during the year.

4. Interest expense of $5,000 was paid in full.

5. Other operating expenses totalled $15,800. These include expenses of $5,000 that were prepaid. The remaining amount, $10,800, was paid during the year.

6. Sold equipment for $6,000 cash. The equipment had an original cost of $21,000 and $19,000 in accumulated amortization.

7. Purchased a new building for $20,000 and issued common shares in full payment.

8. Declared and paid cash dividend of $6,000.

9. Amortization expense was $7,000 for the year.

10. The income tax expense for 2007 totalled $9,000; the Company paid $10,500 to the tax authorities.


The effects of these transactions and year-end adjustments on the balance sheet equation and cash flows are shown in Table 1. Note that some of the accounts we use, such as Prepaid expenses, Property, plant and equipment, Accrued liabilities, and Retained earnings, are groupings of many accounts. The main ideas that we present in this illustration do not change with the addition of more detailed accounts. 

[Insert the Excel file.]


We can use the detailed transaction effects in Table 1 to prepare the operating activities section of the cash flow statement as follows:

 Sample Corporation

Cash Flow Statement (Partial)

For the Year Ended December 31, 2007

(Direct Method)


Operating Activities


Collections from customers

$145,000


Payments:



to suppliers
$59,000



to employees
27,000



for interest
5,000



for other operating expenses
10,800



for income taxes
10,500

Total payments

112,300

Net cash flows from operating activities

$  32,700 

Let us now turn our attention to the computation of cash flow from operations under the indirect method. The starting point of the computation is net income, which is the difference between revenues (including gains) and expenses (including losses). We know that the revenues earned by the Company in 2007 do not necessarily result in an equal amount of cash collections from customers during the year. In fact, the amount of cash received from customers during the year could be equal to, lower or higher than the amount of revenues. Similarly, the amount of expenses incurred during the year may not coincide with the amount of cash payments for these expenses. Given that revenues and expenses include both cash and non-cash components, we need to remove the non-cash revenues and non-cash expenses from net income in order to obtain the cash components. Table 2 below shows how we can decompose the revenues and expenses into cash and non-cash components.

Table 2.
Decomposition of Revenues and Expenses into Cash and Non-cash Components

	Transaction
	A

Cash Component

(Cash Income)
	B

Operating Revenue or Expense (Accrual Income)
	C = A – B

Difference

(Non-cash Component)

	Sales
	    $145,000
	    $140,000
	     $  5,000

	Cost of goods sold
	       (59,000)
	       (69,000)
	       10,000

	Salaries expense
	       (27,000)
	       (28,000)
	         1,000

	Interest expense
	         (5,000)
	         (5,000)
	            -0-

	Other operating expenses
	       (10,800)
	       (15,800)
	         5,000

	Amortization expense
	            -0-
	         (7,000)
	         7,000

	Income tax expense
	       (10,500)
	         (9,000)
	        (1,500)

	Cash/Accrual Income from operations
	     $ 32,700
	     $   6,200
	     $26,500



Let us now examine the decomposition of each revenue or expense into cash and non-cash components by focusing on the income statement amounts and the account balances at the beginning and end of the fiscal year, pretending that we do not have the details of all the transactions that occurred during the year.

· The revenue reported in the income statement equals $140,000. However, we observe that the balance of Accounts receivable decreased from $22,000 to $17,000. This indicates that the Company collected $5,000 from customers in addition to the amount of sales during 2007. Hence, the total amount collected from customers is $145,000 and can be determined as follows:



Collection from customers = Sales revenue + decrease in Accounts receivable



= $140,000 + ($22,000 - $17,000)





If the balance of Accounts receivable increased, then the increase is deducted from the sales revenue.

· The cost of goods sold is $69,000. We observe that the merchandise inventory decreased from $75,000 on January 1, 2007 to $68,000 on December 31, 2007, a decrease of $7,000. This indicates that the Company purchased merchandise for $62,000 from suppliers and sold existing inventory that cost $7,000. Hence, the cost of goods sold of $69,000. Did the Company pay for the purchases of $62,000 in cash? To answer this question we need to observe the change in Accounts payable. The balance of Accounts payable increased from $14,000 to $17,000, indicating that the Company paid only $59,000 ($62,000 – $3,000) to suppliers. The amount paid to suppliers is therefore determined using a two-step process as follows:



Purchases
= Cost of goods sold – decrease in Merchandise inventory




= $69,000 – ($75,000 – $68,000) = $62,000



Payments to suppliers
= Purchases – increase in Accounts payable





= $62,000 – ($17,000 – $14,000) = $59,000


The decrease in Merchandise inventory and the increase in Accounts payable explain the difference between cost of goods sold ($69,000) and payment to suppliers ($59,000).


If the balance of Merchandise inventory increased, the increase is added to the cost of goods sold. Similarly, if the balance of Accounts payable decreased, then the decrease is added to the cost of goods sold to determine the cash paid to suppliers. 

· The salaries expense equals $28,000. Again we ask ourselves: Did the Company pay this amount in cash? We observe that the balance of Salaries payable increased from $1,500 to $2,500. This indicates that the Company paid only $27,000 ($28,000 – $1,000) to employees during 2007. Hence, the total amount paid to employees can be determined as follows:



Payment to employees
= Salaries expense – increase in Salaries payable



= $28,000 – ($2,500 – $1,500)


If the balance of Salaries payable decreased, then the decrease is added to salaries expense.

· The interest expense equals $5,000. Again we ask ourselves: Did the Company pay this amount in cash? In this case, the balance sheet does not include any balance for interest payable neither on January 1, 2007 nor on December 31, 2007. This suggests that the Company paid the full amount in cash.

· The other operating expenses amount to $15,800. Again we ask ourselves the same question: Did the Company pay this amount in cash? We observe that the balance of Prepaid expenses, which usually relate to operations, decreased from $15,000 to $10,000. This indicates that the Company paid only $10,800 ($15,800 – $5,000) to various suppliers of service to the Company.  Hence, the total amount paid for other operating expenses can be determined as follows: 



Payment for other operating expenses 
=     Other operating expenses

· decrease in Prepaid expenses




= $15,800 – ($15,000 – $10,000)




= $10,800


If the balance of Prepaid expenses increased, then the increase is added to other operating expenses.


In some cases, companies accrue operating expenses at the end of the fiscal year. Such accruals are called Accrued expenses payable or Accrued liabilities, which is the more commonly used account category. If the balance of Accrued liabilities changes during the year, then it must be taken into consideration along with the change in Prepaid expenses in determining the cash paid for other operating expenses. For example, if the balance of Accrued liabilities increased by $3,000, then the amount paid for other operating expenses would be reduced from $10,800 to $7,800 because an amount of $3,000 was not paid yet. The general computation of cash paid for other operating expenses is as follows:

 

Payment for other 
=    Other operating expenses



 Operating expenses
+ increase (– decrease) in Prepaid expenses



– increase (+ decrease) in Accrued liabilities

· The amortization expense equals $7,000. We know that amortization is an allocation of a past cost that does not involve cash payment. So the full amount of amortization is a non-cash expense.

· The income tax expense equals $9,000. Again we ask ourselves: Did the Company pay this amount in cash? At the risk or repeating the process we followed above, we observe that the balance of Income tax payable decreased from $4,500 to $3,000. This indicates that the Company paid to the tax authorities during 2007 an amount of $1,500 in addition to the $9,000, for a total of $10,500. Hence, the total amount paid for income tax can be determined as follows:


   Payment for income tax = Income tax expense + decrease in Income tax payable



= $9,000 + ($4,500 – $3,000)


If the balance of Income tax payable increased, then the increase is deducted from the income tax expense.

Now that we have explained how we compute the cash receipts and payments for operations based on revenues, expenses, and changes in related balance sheet accounts, let us prepare the operating activities section of the cash flow statement using the indirect method.

 Sample Corporation

Cash Flow Statement (Partial)

For the Year Ended December 31, 2007

(Indirect Method)


Operating Activities


Income from operations

$6,200


Add (deduct) items not affecting cash:



Amortization expense
$ 7,000



Decrease in accounts receivable
5,000



Decrease in merchandise inventory
7,000



Decrease in prepaid expenses
5,000



Increase in accounts payable
3,000



Increase in salaries payable
1,000



Decrease in income tax payable
  (1,500)



Net adjustments

26,500

Net cash flows from operating activities

$32,700 

The fact that we get the same result as before is not mysterious. What we simply did is to remove the non-cash components of revenues and expenses from income from operations so we are left with the cash components. Notice that the adjustments listed above are the same amounts that appear in column C in Table 2, except for showing the non-cash component of the cost of goods sold as the result of a decrease in Merchandise inventory by $7,000, and an increase in Accounts payable by $3,000. 

One last observation. The net income for 2007 includes a gain of $4,000 on the sale of equipment. If we list net income, instead of income from operations, as the starting point in the statement above, then we need to remove from net income the gain of $4,000 because the sale of equipment is an investing activity, not an operating activity, and we are computing the net cash flows from operations. Hence, the operating activities section of the statement would look as follows:


Operating Activities


Net income

$10,200


Add (deduct) items not affecting cash:


Gain on sale of equipment
  (4,000)



Amortization expense
$ 7,000



... same adjustments as above ...
.........



Decrease in income tax payable
  (1,500)



Net adjustments

26,500

Net cash flows from operating activities

$32,700 
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